ПРИЛОЖЕНИЕ А
Полный текст программы
Перем N, NN;
Перем dy, dx;
Перем Доска;
Перем КодСимволаA;
Перем ЛучшийВесНач;

Процедура Инициализация()
	Перем y, x;
	N = 8;
	NN = N * N;
	КодСимволаA = КодСимвола("a");

	dy = Новый Массив();
	dy.Добавить(2);
	dy.Добавить(1);
	dy.Добавить(-1);
	dy.Добавить(-2);
	dy.Добавить(-2);
	dy.Добавить(-1);
	dy.Добавить(1);
	dy.Добавить(2);

	dx = Новый Массив();
	dx.Добавить(1);
	dx.Добавить(2);
	dx.Добавить(2);
	dx.Добавить(1);
	dx.Добавить(-1);
	dx.Добавить(-2);
	dx.Добавить(-2);
	dx.Добавить(-1);

	ЛучшийВесНач = (dy.Количество() + 1) * (dy.Количество() + 1);

	Доска = Новый Массив(N, N);
	Для y = 0 По N - 1 Цикл
		Для x = 0 По N - 1 Цикл
			Доска[y][x] = 0;
		КонецЦикла;
	КонецЦикла;
КонецПроцедуры

Процедура ПечатьДоски()
	Перем Рез;
	Перем y, x;
	Рез = "";
	y = N - 1;
	Пока y >= 0 Цикл
		Рез = Рез + Строка(y + 1) + " ";
		Для x = 0 По N - 1 Цикл
			Рез = Рез + Прав("   " + Строка(Доска[y][x]), 4);
		КонецЦикла;
		Рез = Рез + ""
					"";
		y = y - 1;
	КонецЦикла;
	Рез = Рез + "  ";
	Для x = 0 По N - 1 Цикл
		Рез = Рез + "   " + Символ(КодСимвола("a") + x);
	КонецЦикла;
	Сообщить(Рез);
КонецПроцедуры

Функция МожноХодить(y, x)
	Возврат (0 <= y) И (y < N) И (0 <= x) И (x < N) И (Доска[y][x] = 0);
КонецФункции

Функция ЛучшийХод(y, x)
	Перем ЛучшееНапр, ЛучшийВес;
	Перем Напр, Напр2, Вес;
	Перем ny, nx;
	ЛучшееНапр = -1;
	ЛучшийВес = ЛучшийВесНач;
	Для Напр = 0 По dy.Количество() - 1 Цикл
		ny = y + dy[Напр];
		nx = x + dx[Напр];
		Если МожноХодить(ny, nx) Тогда
			Вес = 0;
			Для Напр2 = 0 По dy.Количество() - 1 Цикл
				Если МожноХодить(ny + dy[Напр2], nx + dx[Напр2]) Тогда
					Вес = Вес + 1;
				КонецЕсли;
			КонецЦикла;
			Если Вес < ЛучшийВес Тогда
				ЛучшееНапр = Напр;
				ЛучшийВес = Вес;
			КонецЕсли;
		КонецЕсли;
	КонецЦикла;
	Возврат ЛучшееНапр;
КонецФункции

Функция Решить(Шаг, y, x)
	Перем Напр;
	Перем ny, nx;
	Если Шаг > NN Тогда
		Возврат Истина;
	КонецЕсли;
	Напр = ЛучшийХод(y, x);
	ny = y + dy[Напр];
	nx = x + dx[Напр];
	Если МожноХодить(ny, nx) Тогда
		Доска[ny][nx] = Шаг;
		Если Решить(Шаг + 1, ny, nx) Тогда
			Возврат Истина;
		Иначе
			Доска[ny][nx] = 0;
		КонецЕсли;
	КонецЕсли;
	Возврат Ложь;
КонецФункции

Процедура Главная()
	Инициализация();
	Доска[0][0] = 1;
	Если Решить(2, 0, 0) Тогда
		ПечатьДоски();
	Иначе
		Сообщить("Нет решений.");
	КонецЕсли;
КонецПроцедуры

Главная();

ПРИЛОЖЕНИЕ Б
Результаты работы программы
8   22   7  44  39  24   9  28  63
7   43  40  23   8  45  62  25  10
6    6  21  42  59  38  27  64  29
5   41  58  37  46  61  54  11  26
4   20   5  60  53  36  47  30  51
3   57   2  35  48  55  52  15  12
2    4  19  56  33  14  17  50  31
1    1  34   3  18  49  32  13  16
[bookmark: _GoBack]     a   b   c   d   e   f   g   h
